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Solve each equation below

a) 3x+4-x+8=3(2x-1) +8

c) 8a+4-2(a+8)=-3(2a-1)+6

d) -5n+4 —n+8=-3(2n -1) +8

b) 4(2x-1) +2(4-x) +5x = 4(3+2x) -3

d)-4(2y - 1) -2(4 +vy) -5y = 4(3 - 2y) +3

e) (2w+9)+3(4w-1)-9w=4(3 +2w) -3



Part A : Solving Equations

@

Algebrg : Review

Solve for the variable in the following equations.

1. 6x=3x+12

2. Bu-u=u+15

3. B(z+6) = 82

4, 8(4-u)+u=8+u

B, -3(x+b) = 2(x + B)

7.5x - 4(2x+ 11)= 13

B.3x¢5=7

o [
1]
o

9. 4(8-By) = -2y-4

10.3a+5=11
4
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Part B : Solving Word Problems using Equations

Y ~(—.>\

Solve the following word problems. Include the “let statements™, an
equation, your work, and an answer statement for each problem.

1. The perimeter of a rectangle is 62 units. Itsbase is 3 units longer
than its height. Determine the dimensions of the rectangle.

2. The sum of three consecutive numbers is 4770. What are the
-numbers?

3. Nathalie’s mother is twice as old as her. Her father is seven years
younger than her mother. The sum of all their ages is 138. How old is

Nathalie's father? ( __ %

4. Twenty-two more than twice a number is the same as 3 fimes the
same number, minus 8. What is the number?

5. The lengths of the sides of a triangle are 3 consecutive numbers, The
perimeter of the triangle is 69 cm. Find the lengths of the sides.
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Mathematics 216
(‘. Rates, Ratios and Proportions
1 | Softdrink cans usually hold 355 mL, of liquid.
Which of the following purchases is the best buy?
A) 1canfor $1.00
B) 6 cans for $2.49
C) 12 cans for $3.29
D) 24 cans for $6.79
2 | Which pairisa proportio\n?
A temdz C) 12and>
3 ' 6
3 9 8 10
2 and = 2 and —2_
Bzl D) gamd s
13 ' Which pair of ratios does NOT form a proportion?
2 34 7.2 12
£ 2= 2L and 24
A Fandg O gy md g
9 12 0.3 1.5
= okt =2 and 22
B) padig D) gy ad s
"4 | What is the value of the missing term in the following proportion?
0.1 _ 1000
100
A) 10 C) o0.01
B) 1 D) 0.001
's( 'hatis the value of the missing term in the following proportion? '
= 1 15.75

6.3



In the following proportion, what is the onf then’fissing term? | <(
~

30_150

15 ?
A) 500 Cc) 45
B) 1125 D) 5

Find the missing term in each of the following proportions.

15 x
a) —_—=—
6 12 N
b) 0.65 _ 13
x 100

8 people. Your sister is planning a party for 12 people and hopes your experience will help her determine

Having recently thrown a party for your friends, you now know that you need 6 bags of chips for |
how many bags of chips she will need. %\

" Which of the following proportions will help her find out how many bags of chips she is going to need?

6_ x 8 «x
A) 8 12 ) 6 12
6_12 8 «x
B) 8 «x D) 12 6

A cyclist travelled 775 km in 68 hours. At this speed, how many kilometres did he cover in 16 hours?

Which proportion can be used to solve the problem?

68 x 775 16
A == ===
) 775 16 © 68 x
775 x 775 68

B) Zo 1z D) -V = =k

68 16 16 x .
T
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A restaurant cook prepares his recipe for spaghetti sauce. He usually adds 15 mL of salt for flavour,
The following week, he decides to adjust his original recipe to make it less salty.

Which adjustments should the cook make to ensure that his sauce is less salty?

A)  Add a can of tomato juice.

B)  Reduce the amount of tomato juice by one can.
C) Double the .recipe.

D)  Prepare half the recipe.

/

To make concrete, one needs 3 parts cement, 5 parts sand and 8 parts stone.

If Jack ﬁut 15 shovel-fulls of cement into the mixer, how many shovel-fulls of sand will he have to add?
A) 15 shovels
B) 24 shovels

C) 25 shovels
D) 40 shovels

A photograph is 10 cm long and 7 cm wide. After being enlarged, it is 15 cm long.

What is the width of the enlarged photo?

Simone takes her pulse and finds that her heart beats 18 times in 15 seconds.

At this rate, how many times does her heart beat in one minute (60 seconds)?

'To make lemonade, 5 cans of water must be added to 2 cans of concentrate.

If Linda plans to use 9 cans of concentrate, how many cans of water must she add?

1 a photograph, Cathy measures 3.2 cm and J effrey measures 3.8 cm. What is Cathy's actual height, in
metres, if Jeffrey's actual height is 1.9 m?
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Three friends shared the cost of a $20 lottery ticket. The first gave $5, the second $7 and the third $8. . :
They were lucky and won a sum of $7500. 4

-'.I
Y 3

P

How much should the second person receive if the prize is shared proportionally to the cost of the ticket

paid by each?

17

1000-kilometre trip.

Angela knows that her car consumes 10.2 litres of gas per 100 kilometres. She wants to go on a

If gas presently cost.$0.67 a litre, how much will she spend on gas for her trip?

18

Which of the following situations represents a proportion?

A)  Julie's math results B)  Mark's earnings during sumnmer
o vacation
Results : 4
(%) 150 (
A~
“ Eamings 2 &)
(@$)
20 90
[ t 2 4 b 60
Tests
30
2 3 4 5 6 7 ¢ >
Number of weeks
)
Comer Pizza Store
Number of é]ices Price
4 $6.40
6 $8.60
8 $10.80

D) Nadine worked for 10 hours in preparation for her math exam and got 75 % on the exam. If she N(\_,,-.
had studied for 15 hours, she would have had 100 %.
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Canadian athletes won 13 medals at the 1994 winter Olympics in Lillehammer.

T'he types of medals won are listed in the table below.

Canada"s Medals at Lillehammer

Gold Silver Bronze Total

3 6 4 13

Quebec athletes won 9 of these medals. Myriam Bédard won two gold medals and a silver medal.
Express as a ratio the number of medals won by Myriam Bédard to the total number of medals won by

Canadian athletes,

Gas consumption for 4 different cars was recorded over a period of time.
Which chart represents a proportion?

A) 1%car

Litres of gas 6 10 16 30

Kilometres 126 210 336 600
B) 2™car

Litres of gas 4 8 12 16

Kilometres 80 160 240 360
C) 3%car

Litres of gas 3 6 12 18

Kilometres 64 128 256 384
D) 4%car

Litres of gas 1 2 3 4

Kilometres 29 30 31 32




'What Did Snidély Sa@ After Filling
- His CarWith-Super Premium,
TopTest, Power Plus Gasoline?

Ly

Solve each problem and find your-answer in the rectangle below. Cross
_out the box that contains your answer. When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

OO

o

The Jelly Junior High school color is
made by mixing red paint with yellow
paint. The ratio-of red to yellow is 3 to
5. How much red paint should be

mixed with 20 oz of yellow?
' 0z

The .Lawn Order lawnmower factory
can produce 12 lawnmowers in 8
hours. How many hours will it take the

factory to produce 30 lawnmowers?
: h

)- An object that weighs 10 Ib on Earth

would weigh only 4 Ib on Mars. If you
weigh 95 Ib on Earth, how much
would you weigh on Mars? _ tb

The ratio of orangé juice to pineapple
juice in Tropical Treat punch is 4 to 3.
Bill has 64 oz of orange juice. How

much pineapple juice does he need? '

0z

A cookie recipe for 60 cookies calls

®

®

Jose can read 7 pages of his book in
5 minutes. At this rate, how long will it
take him to read the entire 175-page
book? min

While exercising, Julie found that her
heart was beating 12 times every 5
seconds. How many times was it
beating per minute (60 seconds)?

If there are 1,200 calories in 8 oz of
hot fudge, how many calories are in 3
oz of hot fudge’> cal

At a certain college, the ratio of men
to women is 6 to 5. If there are 1,500
men, how many women are there?

One of the world's largest stained-
glass windows is at Kennedy
International Airport in New York. ltis
a rectangle with a height to length
ratio of 2 to 25. If the window is 24 -~

for 4 cups of flour. How much flour is feet high, how long isit? ______ft
needed to make 90 cookies? :
cups
HI PU TA KE EP JU NK IN
450 | 48 | 1,210 | 300 12 125 | 340 | 20
NE

GO TO HO oD

ED |- GA SS




Fill in each table using the rule described

Translate the rule into an algebraic expression

#1) Jake is 8 years younger than his cousin Terry

Terry’s age(X)

10

14

25

29

33

Rule

Jakes’ age (y)

15

#2) Bobby and Jane both work at Coffee Stop. Jane works 3 hours less than

twice Bobby’s hours.

Bobby hours(X) |8 10 12 18 24 Rule
Janes’ hours(Y) 27 39

#3) The sides of a rectangle measure a third of the base.

Base length(X) | 9cm | 15cm 27cm 40cm | 45cm | Rule
Side length(Y) 7cm 12.5cm




4. Martina takes part in a contest organized by the local supermarket. She receives one
ticket for the first $25 worth of purchases she makes, and an additional ticket for
every $10 she spends after that.

a) Complete the table of values for this relationship.

35 55 105

b) How many tickets will she get if
she spends $125 on groceries?

¢) Martina got 15 tickets the last time
she bought groceries. Give the
minimum amount she must have
spent.

5. The results of a pre-election survey are
published.

a) Describe the relation between the number of votes
for the current mayor and the number of voters by
completing the statement.

‘Generally, for every 10 people who vote,

b) Complete the table to show the relation between the number of votes and the
votes received by the current mayor.

10 100 { 1000 | S000 | ... n

¢) If the cufrent mayor received 6900 Wotes A

for the
votes, how many votes were cast? .
incumbent

- 4800
4200
3600
3000
2400
1800
1200
600

d) Plot the relation on this Cartesian plane.

—
P

0 8 Number
g Number

o of votes

ract

1000
2000
3000
4000
5000
6000
7000
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1. Who am I? (Answer using point A, B, C, D or E.) Ay

a) My coordinates are not zero and have the
same sign.

b) My x-coordinate is double my !
y-coordinate. B

¢) The sum of my coordinates is greater J S
than 0. 5

d} My y-coordinate is 2.

4 < 2. What name Is given to:
a) the vertical axis on a Cartesian plane?
b) an axis-whose y-coordinates are zero?

c) the point whose coordinates are (0, 0)?

3. In which quadrant (1st, 2nd, 3rd or 4th):
a) is the point with coordinates (-3, —4) located?
b) are the points whose coordinates are both positive located?

@ .
Y Greph point E ( 3 1)

@CQEH’TE 2 LiweS on T SEAFH

= AB ,(dhﬂe’(‘j‘ A =B

N :
< CF c¢onned < » F .

@ At l)éxccff)oinf;' will these. .2 [ines Cross ) C >
In w3hich C\ucd.ewn’ 7/

A Anns WWtel BLa MVamen b ot .



6. Every minute, your Heart beats a certain number

of times.

a)@n &uﬂr\ap;ﬂ, 6n wshich «xi§

wovld time 30?._._———-

b) Construct a table of values given that
your heart beats 36 times in 30 seconds.

‘Time Number
(min) of heartbeats

o

-

3 36

1

2

3

4

n

isabel rode her bike 12 km farther than Brent. Construct a table of values showing some
ordered pairs of the relation between the distances covered by each.

Distance covered by Brent (km) )4

O

9.

[®)

S

Distance covered by Isabel (km) Y

4

ZOD

—

.
J

In Patricia’s card collection, there are 6 fewer hockey cards than twice the number of base-
ball cards. Construct a table of values snowing 4 possible ordered pairs 0

Number of basebadl ardg

20

N

Number of * hockey cords

P

0.

/asj:D

o. A Wanter usudl\j 9@1% on 15 Tip ‘%r‘“&/ 100

a) Complete the table of values below that represents such a relation.

f this rt_elatio
RUOLE .

Bill ($)

50

100

200

500

1 000

- Tp 9§

18

7
RuLt ~

-

)

%%@ﬂ
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6. The following graph represents

e

i

< ' the temperatures observed on two Daily Temperatures Observed
Temperature :
separate days at two very different °C) during Two Different Seasons
times of the year. 2 e i
2F / !
a) Indicate the season for each day. fo s ‘
8F A AV
16 1N
14F )
12F Day 1
b) What was the highest temperature for 1g 1 ]
each day? : 6 ! T
4
2 g3
0 -J‘iw TauBau $av 1046 12 NONTIPM 200 JPm SPw SPu Bp v " =
¢) During which day could it have rained f - M%\Qf__d&u
in the morning? 6 ~ Day2 - (h)
' -18 =i = N
12 - }\ 5
14
7. The foliowing graph represents the
relation between the age and average
height of an Indian elephant. In your own \  Growth ofan Indian Elephant
words, explain the elephant’s growth Height 3 >
through the years. (m) >
5 "1
A ]
~ _ 1 g
0 5 10 15 20

Age
(a)

8. The following graph illustrates the growth of Canada’s population.

Population ,  Canada’s Population Growth
(mi”iOnS) 28.5 |
T 265 >
245F
225F
205F P
185 | s
165 A
14.5 y

125
105 =

8.5 f——

T Y

l S

1921 1931 1941 1951 1961 1971 1981 1991
Year

a) What was the population in 1951?
b) Describe the growth of Canada’s population during the past few decades.

L]

¢) What should Canada’s population be in the year 2000?

© 1996, W& L ltée. Reproduction permitted. Carrousel—Review __



9. Timis 6 years older than his brother Leonard. _ ' :'
a) Complete the table of values below and find the general rule. C y,

Leonard’'s age 1 2 3 4 5 6 7 X

Tim’s age

b) What is Tim's age if Leonard is 32 years old?

c) If Leonard is presently 18 years old,
in how many years will Tim be 457

10. Edith is a market gardener and harvests an average of 8 potatoes per plant.

a) Complete the table of values corresponding to this situation.

Number of plants : 1121314 |5|6

Number of potatoes harvested

b) If Edith digs up 16 plants, how many
potatoes will she have?

¢) How many plants will she need
to harvest 200 potatoes?
&

11. Daniel wanted to jump rope better than anyone else at his school. One morning he jumped 40 s
times in a row and decided to jump an additional 5 times every day. ( )

a) Construct a table of values that shows the number of times Daniel will jump rope during the
first 10 days.

b) On a Cartesian plane, represent the relation between the days and the number of jumps.

N

A

¢) How many times will Daniel jump rope on the 20th day?

d) On which day will Daniel jump 115 times?
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Word Problems

Solve each word problem on a sheet of paper by creating a subject box, solving an
equation and writing out the answer in sentence form., e '

A) The perimeter of a rectangle is S4cm. The length is 3cm less than
twice the width. How long is each side of this rectangle (in cm)?

B) 1808 was divided among 3 people. The 2™ person received 69, less
than twice as much as the 1% person and the 3™ person received 7%
more than the 2™ person. How much money did each person receive?

C) Mount Mojo and Mount Fuji combined heights are 7, 595m above gea
level. Mount Fuji is 1,500m lower than 4 times the height of Mount
Mojo. How high is Mount Fuji? |

D) Maria, Eric and Jen picked apples last week. Eric picked double the _
amount that Maria picked. Jen collected 5 apples less than Eric.
Together, they picked 55 apples. How many apples did Jen pick?

E) A farmer grows tomato plants as well as cucumber vines. Last year a
QuAriEeof his vegetables were cucumber vines and the rest wete tomato
plants. Altogether he grew 1288 plants and vines. How many
cucumber vines did he grow,

F) Valerie, Marc and Julie sold chocolate bars for school. Julie sold half
as many bars as Valerie and Marc sold 15 more bars that Valerie.
Their combined total in chocolate bars sold was 225. How many bars
did Julie and Marc sell each,

G) A pair of boots and a jacket cost 2108, The boots cost 368 more than
half the price of the jacket. How much is each item worth?

H) Ryan is twice the age of his little sister. The sum of their ages is 36
years. How old is Ryan?

I) Inanisosceles triangle, the base is 20cm shorter than triple the length
of one side. The perimeter of the triangle is 730cm. Find the length (in
cm) of each side, 9

D e i o 4 cmdealiie #5 i o5 Mol ana ase 8
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#12)

The height of triangle is equal to the height of the rectangle
The base of the rectangle is twice the base of the triangle

The combined area of the triangle and the rectangle is 4gocm?

Zocm

S

- - -
bt o

1

(2x¥Y) cm

What is the perimeter of the rectangle in cm?
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#14) A restaurant has a perimeter of oo m with a length fchat is (.9

times longer than its’ width.
The kitchen is -cl-’- of the total area of the restaurant

a) What are the length and width of the restaurant?

?
b) What is thé area of the kitchen as well as a possible length and
width? —
___—_-——’

Kitchen




